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1. Find the product of extremes 0f9:10 and16:20
(i) 182 (ii) 160 (iii)) 180 (iv) 177 (v) 179

, 10 3 4 12
2. Find the product of extremes of — :— and —: —
7 11 5 17
(0 120 (i) 120 (i) 122 (iv) 12 W) 118
i) - i) - i) - iv) - v) -
287 289 289 55 289

3. Find the product of means 0of12:17 and19:9
(i) 323 (ii) 321 (iii) 322 (iv) 108 (v) 325
17 20 4

14
4. Find the product of means of — :— and — : —
3 12 7 19
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5. Which of the ratios is proportional to 45 : 5?
(i) 27:6 (ii)) 26:3 (iii) 27:1 (iv) 27:3 (v) 28:3

6. Find the missing value in the equation :1=238:7

(i) 35 (ii) 34 (iii) 36 (iv) 32 (v) 33

7. Find the missing value in the equation16: =8:2

(iy 3 (i) 4 (iii) 5 (iv) 2 (v) 6

8. Find the missing value in the equation34:1= :5

(i) 173 (ii) 167 (iii) 169 (iv) 171 (v) 170

9. Find the missing value in the equation20:5=16:

(i) 2 (ii) 4 (i) 5 (iv) 7 (v) 3

1 5
10. Find the number which bears the same ratioto-3 that s does

(M ) i) (V) ()
I 15 ! 19 . 17 W 17 Y 17

11. Ifa:b::c:d,then
(i) abc = bcd (ii) ad = bc (iii) ab =cd (iv) ac = bd

12. The ratio 3 : 2 is proportional to which of the following ratios?

(i) 18:8 (ii) 9:10 (iii) 15:6 (iv) 12:12 (v) 6:4
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13. Which of the following represents a proportion ?

(i) 22:34::88:102 (ii) 24:36::72:108 (iii) 26:38::78:76 (iv) 23:35::69:140 (v) 25:37::50:111

14. Which of the following does not represent a proportion ?

(i) 16:8::80:40 (ii) 24:18::48:36 (iii) 15:9::60:36 (iv) 14:10::42:30 (v) 6:4::12:12

15. If x:18::24:12, find 'x'
(i) 36 (ii) 35 (iii) 38 (iv) 33 (v) 37
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1) (iii) 2) (ii) 3) () 4) (i) 5) (iv) 6) (ii)
7) (ii) 8) (v) 9) (ii) 10) (v) 11) (ii) 12) (v)
13) (ii) 14) (v) 15) (i)
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